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QUESTION 1

Which of the following are two examples of Fiber Optic interface problems? (Choose two of the following options.) 

A. Splice loss and connection loss 

B. Noise 

C. Gravity 

D. Cable bends 

E. EMI - Electro Magnetic Interference 

F. RFI Radio Frequency Interference 

Correct Answer: AD 

 

QUESTION 2

Switched Channel Circuit Networks provide which two-bandwidth speed increments? 

A. 48K bits per second 

B. 64K bytes per second 

C. 56K bytes per second 

D. 64K bits per second 

E. 56K bits per second 

Correct Answer: DE 

 

QUESTION 3

What does Automatic Gain Control (AGC) do? 

A. It turns up the volume to the far-end microphone. 

B. It selects among multiple microphones. 

C. It turns down the volume to the far-end microphone. 

D. It builds the volume to the near-end microphone. 

Correct Answer: D 

 

QUESTION 4
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Defective Local Loop may introduce what two problems? (Pick two of the following options.) 

A. Cyclic Redundancy Errors 

B. Network Channel Clocking Delay 

C. Over-voltage to codec power supply 

D. Over-voltage to the codec camera 

E. Intermittent codec network connections 

Correct Answer: AE 

 

QUESTION 5

IEEE oversees which of the following? 

A. ANSI standards 

B. ISO standards 

C. 802 LAN groups 

D. OSI Model 

E. Bell Standards 

F. All of the above 

Correct Answer: C 
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